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1. Use the data below and 4 sub-intervals to approximate the area under the curve
using the Trapezoidal approximations. )

't 0 2 E } 9 10
_H(1) 66 60 | 52 4= 43

At eo= & (2z0)(berc0) & 1 (5-aYeo+52) +a-s{5av)s

3 (1020

2. Use the data below and 4 sub-intervals to approximate the area under the curve
using Trapezoidal approximations.

)

t(hours) 0 7 5 7 8
E(t) 0 4 13 21 73
(hundreds of

entries)

P\= -!2— (1_.@(111-0) + .12(5,2)(11 i-l%) + é{'l-';)(l‘sut) -l-ﬁ(@-’ﬁ(l%-l
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4, Use the data below to approximate the area under the curve using Midpoint
Riemann Sums with 3 sub-intervals.
— P
P(t) 0 \46 / 53 51) 60 [ 62f¢x
N —
6D
sb MArea= (4-03("{53 t (B-"f}(m) #[fﬂ-&)['v])
)
3p
20
1D
2y ¢ 8 0

13. Use the data below

Ms area under the curve using a midpoint

Riemann sum witl 3 sub-intervals

T (sec) |0 —H0— 1 2 (24 (——300—346()
at) 24 301 |28 301 |26 241 |26
fi/sec?

A= (120-0) (30) t (240-120)(36) + (360 -240)(20)
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